
B

© AP Racing Ltd. 2005

AP Racing
Wheler Road
Coventry               
CV3 4LB

e-mail: sales@apracing.co.uk
Web site: HTTP://www.apracing.com

Tel:  +44 024 7663 9595
Fax: +44 024 7663 9559

THIS DRAWING IS CONFIDENTIAL AND IS SUPPLIED ON THE EXPRESS CONDITION THAT
IT SHALL NOT BE LOANED OR COPIED OR DISCLOSED TO ANY OTHER PERSON OR USED
FOR ANY OTHER PURPOSE WITHOUT THE WRITTEN CONSENT OF AP RACING LTD.

IF THIS DOCUMENT IS PRINTED IN HARDCOPY,
IT IS FOR INFORMATION USE ONLY AND THEREFORE
IS NOT SUBJECT TO UPDATING CONTROLS. ALWAYS
REFER TO SOLIDWORKS VIEWER FOR LATEST ISSUE

Zo
ne

INSTALLATION
DRAWING

FIRST ANGLE
PROJECTION

DRAWN

APPROVED

DERIVED FROM

TITLE

DRG NO.

Particulars In
iti

al
s

Date & No.

Alterations

Is
su

e
N

o.

987654321

2019181716151413121110987654321

2019181716151413121110

P

N

M

L

K

J

H

G

F

E

D

C

B

A

P

N

M

L

K

J

H

G

F

E

D

C

A

Last Saved: sthomas on 16 May 2014 09:23:36N:\SolidWorks\Customer\cp6470-1cd.slddrw

jheritage

 

B1

SHEET  1  OF  3SCALE  1:1

 CP6470-1CD

SAT15KSTAINLESS STEEL PISTON OPTION 
ADDED

15/05/14
B7102

2

JH#FIRST ISSUE10/05/10
B5690

1

DIRECTION OF
DISC ROTATION

125.00

PATHWAY RADIUS
180.00

R

125.00

1.417

(TRAILING)
 BORE36.00

CLEAR

34
.2

0

11
4.

00
 (U

'D
IM

'N
)

BOLT

28.58  BORE
(LEADING)

1.125

28.50
MAX TO

R151.90

EFFECTIVE RADIUS

42
.0

0 62
.0

0

131.60

59
.0

0

53
.0

0
SW

EP
T 

D
EP

TH

82.50

R 86.00

17
6.

5020
2.

00

90.00

R

R

50.00

90.00

15
0.

00

12
4.

50
R

R
13

3.
50

CP6070D49 FAMILY IRON PAD

THICKNESS: 25mm
AREA: 61.6cm²

CP6070-108H## CARBON/CARBON PAD
AREA: 69.1cm²
THICKNESS: 25mm

 
4-POT  REAR GT CALIPER

 

Ø355.0 DISC & WHEEL 

PROBLEM.

LEDGES ARE
AVAILABLE IF
THIS IS A

CL

THINNER PAD

THERMO-SENSOR (PT100 TYPE)
OPTION - CP6282-2 (RH)
                 CP6282-3 (LH)

x4
5°

 M
IN

39
.2

0

12.10

0.
85

22.00

12.20

63
.5

0
(P

L 
D

IM
'N

)

FITTING & BLEED SCREW OVER.
TRAILING (BEHIND AXLE) POSITION BY SWAPPING THE DRY-BREAK 
(IN FRONT OF AXLE) APPLICATION BUT THEY CAN BE USED IN A 
NOTE: 'D' SUFFIX CALIPERS ARE BUILT TO SUIT A LEADING 

CERAMIC PISTON CAPS, COOLING DUCT & DRY-BREAK FITTING)

ONLY: M12 - 65Nm & M10 - 54Nm
TORQUE, FOR GUIDANCE
TYPICAL MTG TIGHTENING 

GENERAL DESCRIPTION
4 PISTON DIFFERENTIAL BORE CALIPER TO SUIT UP TO 
Ø355 x 32 CARBON DISC & UP TO Ø355 x32.0 IRON DISC 

APPLICATION
GT REAR

TECHNICAL INFORMATION
TOTAL PISTON AREA: 33.2cm²
PISTON MATERIAL: TITANIUM or STAINLESS STEEL
BODY MATERIAL: ALUMINIUM ALLOY

ASSEMBLY WEIGHT:- 
TITANIUM PISTONS - 2.1Kg•
STAINLESS STEEL PISTONS - 2.22Kg•

INSTALLATION INFORMATION
DISC & CALIPER MOUNTING TOLERANCES TO BE SUCH THAT 
THE DISC IS CENTRAL TO THE CALIPER TO WITHIN ±0.5mm.
DISC DIAMETRAL CLEARANCE SHOULD BE 2.5mm NOMINAL 
FROM DISC O/D TO PATHWAY.

KEY TO DIMENSIONS
‘PL’ DIMN : TOP OF PAD MATERIAL TO MOUNTING BOSS FACE,
WITH PAD SITTING DOWN ON LEDGE.
‘U’ DIMN : WHEEL CENTRE LINE TO CALIPER MOUNTING BOSS
FACE = (DISC Ø/2) - PL DIMN

CALIPER PART NUMBERS :  

CP6470-2S7MP - RIGHT HAND TITANIUM PISTONS
CP6470-3S7MP - LEFT HAND TITANIUM PISTONS

CP6470-2S7LP - RIGHT HAND STAINLESS STEEL PISTONS
CP6470-3S7LP - LEFT HAND STAINLESS STEEL PISTONS

PART No. WITH 'M' DENOTE TITANIUM PISTONS 
PART No. WITH 'L' DENOTE STAINLESS STEEL PISTONS 

CP6470-2S7MPD - RIGHT HAND 
CP6470-3S7MPD - LEFT HAND 
('D' SUFFIX CALIPER ASSEMBLIES INCLUDE COOLING DUCT &
DRY-BREAK FITTING)

CP6470-2S7MC - RIGHT HAND 
CP6470-3S7MC - LEFT HAND
('C' SUFFIX CALIPER ASSEMBLIES INCLUDE 1.5MM THICK 
CERAMIC PISTON CAPS)

CP6470-2S7MCD - RIGHT HAND 
CP6470-3S7MCD - LEFT HAND
('CD' SUFFIX CALIPER ASSEMBLIES INCLUDE 1.5MM THICK 

BLEED SCREW MAX
TIGHTENING TORQUE
17Nm

180.00

M10x1.0x10 FULL THD
HYDRAULIC INLET

130.00

RADIAL PROFILE
(SCALED FOR A
Ø355.00 DISC)

131.60

59
.0

0

49
.0

0
SW

EP
T 

D
EP

TH



B

© AP Racing Ltd. 2005

AP Racing
Wheler Road
Coventry               
CV3 4LB

e-mail: sales@apracing.co.uk
Web site: HTTP://www.apracing.com

Tel:  +44 024 7663 9595
Fax: +44 024 7663 9559

THIS DRAWING IS CONFIDENTIAL AND IS SUPPLIED ON THE EXPRESS CONDITION THAT
IT SHALL NOT BE LOANED OR COPIED OR DISCLOSED TO ANY OTHER PERSON OR USED
FOR ANY OTHER PURPOSE WITHOUT THE WRITTEN CONSENT OF AP RACING LTD.

IF THIS DOCUMENT IS PRINTED IN HARDCOPY,
IT IS FOR INFORMATION USE ONLY AND THEREFORE
IS NOT SUBJECT TO UPDATING CONTROLS. ALWAYS
REFER TO SOLIDWORKS VIEWER FOR LATEST ISSUE

Zo
ne

INSTALLATION
DRAWING

FIRST ANGLE
PROJECTION

DRAWN

APPROVED

DERIVED FROM

TITLE

DRG NO.

Particulars In
iti

al
s

Date & No.

Alterations

Is
su

e
N

o.

987654321

2019181716151413121110987654321

2019181716151413121110

P

N

M

L

K

J

H

G

F

E

D

C

B

A

P

N

M

L

K

J

H

G

F

E

D

C

A

Last Saved: sthomas on 16 May 2014 09:23:36N:\SolidWorks\Customer\cp6470-1cd.slddrw

jheritage

 

B1

SHEET  2  OF  3SCALE  1:1

 CP6470-1CD

9.
50

63
.0

0

73
.0

0

7.50

10.00

15.00

50.00
66.50

15.00

3x M4x0.70 BUTTON HEAD SCREWS
(INCLUDED IN DUCT KIT)

8 HOLES M4x0.70x6.00
THREAD TO MOUNT WHEEL 
SCRAPER.

OPTIONAL DUCT KIT
CP6470-107

VIEW B

DRY-BREAK FITTING OPTION. (SUPPLIED AS STANDARD
WITH 'D' SUFFIX CALIPER ASSEMBLIES)

DRY BREAK TO BE USED IN CONJUNCTION
WITH CP6300-7 BLEED SYSTEM FITTING.
FOR FURTHER DRY BREAK INFORMATION
& SPARES REFER TO CP6300-13CD 
INSTALLATION DRAWING.                

NOTE: DRY BREAK AND BLEED SCREW
SHOULD BE SWAPPED OVER IF THE CALIPER
IS BEING USED IN A TRAILING (BEHIND THE 
AXLE) POSITION.

APPLY LOCTITE 270 TO THREAD UPON ASSEMBLY
TIGHTENING TORQUE 13Nm. CAP TIGHTENING
TORQUE IS 4Nm.

48
.0

0

VIEW C
4-POT  REAR GT CALIPER
 

 

THE RECESS IN THE
DUCT CAN BE COVERED WITH
DUCK TAPE OR SIMILAR ONCE
THE SCREW HAS BEEN FITTED
TO CREATE A SMOOTH SURFACE
FOR THE AIR FLOW

B
C

72
.8

392
.8

3



B

© AP Racing Ltd. 2005

AP Racing
Wheler Road
Coventry               
CV3 4LB

e-mail: sales@apracing.co.uk
Web site: HTTP://www.apracing.com

Tel:  +44 024 7663 9595
Fax: +44 024 7663 9559

THIS DRAWING IS CONFIDENTIAL AND IS SUPPLIED ON THE EXPRESS CONDITION THAT
IT SHALL NOT BE LOANED OR COPIED OR DISCLOSED TO ANY OTHER PERSON OR USED
FOR ANY OTHER PURPOSE WITHOUT THE WRITTEN CONSENT OF AP RACING LTD.

IF THIS DOCUMENT IS PRINTED IN HARDCOPY,
IT IS FOR INFORMATION USE ONLY AND THEREFORE
IS NOT SUBJECT TO UPDATING CONTROLS. ALWAYS
REFER TO SOLIDWORKS VIEWER FOR LATEST ISSUE

Zo
ne

INSTALLATION
DRAWING

FIRST ANGLE
PROJECTION

DRAWN

APPROVED

DERIVED FROM

TITLE

DRG NO.

Particulars In
iti

al
s

Date & No.

Alterations

Is
su

e
N

o.

987654321

2019181716151413121110987654321

2019181716151413121110

P

N

M

L

K

J

H

G

F

E

D

C

B

A

P

N

M

L

K

J

H

G

F

E

D

C

A

Last Saved: sthomas on 16 May 2014 09:23:36N:\SolidWorks\Customer\cp6470-1cd.slddrw

jheritage

 

B1

SHEET  3  OF  3SCALE  1:2

 CP6470-1CD

REF PART NUMBER DESCRIPTION QTY / 
CALIPER

1 CP6518-7LBSSL 7lb AKB SPRING KIT 1

2
CP6070-110 1 1/8" PISTON, TITANIUM

2
CP6470-118 1 1/8" PISTON, STAINLESS STEEL

3
CP6070-111 36.0mm PISTON, TITANIUM

2
CP6470-119 36.0mm PISTON, STAINLESS STEEL

4 CP4518-DH HIGH TEMP SEAL KIT 1

5 CP4528-DH INSULATING PISTON CAP KIT 1

6 CP3880-1
M10 BLEEDSCREW KIT

(INCLUDES 2 OFF BLEEDSCREW & 2 
OFF SEALS)

1

7 CP6470-106 PAD ABUTMENT WEAR PLATES 4

8 CP6270-101 PAD SUPPORT PLATES 4

9 CP3896-122 M4 SCREWS 8

10 CP6470-105 (RH)
CP6470-105 (LH)

CENTRE PAD REATAINING WEAR 
PLATE 1

11 CP6300-21 DRY-BREAK FITTING 1

4-POT GT REAR CALIPER

11

10

8

9

6

6

5
5

4

3

1

1

2

4
5

5

7


